
Time: 40 Minutes Paper Math 2 Total Marks: 25

2nd Month, 4th Week, 6th Day Syllabus: Revision Test

Q.1. Choose the correct option and fill in the blanks. (5)
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(i) When adding three digit numbers, first add the ________________.

¦¦¦¦™™™™DDDD÷÷÷÷XXXX ________________ ZZZZ####ëëëë&&&&yyyyÏÏÏÏ°°°°ŠŠŠŠ¦¦¦¦™™™™DDDD÷÷÷÷ÂÂÂÂ¬¬¬¬

(a) Ones Z»×V (b) Tens Š;×V

(c) Hundreds %} (d) Carrying digit qÝ°Š

(ii) 500 – 300 = ________________

(a) 100 (b) 200 (c) 300 (d) 500

(iii) 7 times 3 = ________________ ________________= 7 ¢¢¢¢[[[[ 3

(a) 12 (b) 15 (c) 18 (d) 21

(iv) 15 @@@@ 5 = _________________

(a) 5 (b) 15 (c) 3 (d) 1

(v) 100 + 10 = _________________

(a) 1000 (b) 101 (c) 100 (d) 110

Q.2.Rehan buys a bat for Rs.390 and a ball for Rs.208. How much amount

does Rehan spent in all? (2.5)
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ÄÄÄÄggggzzzz9999yyyyaaaaKKKK???? 208 ggggzzzz9999ZZZZzzzzggggtttt 390 gggg%%%%yyyyääääZZZZqqqq----šššš

Q.3.There are 658 passangers in a train. 269 passengers get off the train at a

station. How many passengers are left in the train? (2.5)
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Q.4.There are 10 pencils in a packet. How many pencils are there in 4

packets in all? (2.5)
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Q.5. Sara distributes 21 cupcakes equally among 7 friends. How many

cupcakes does each friend get? (2.5)
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Q.6. Solve the following questions. (2.5×4=10) ŠŠŠŠØØØØ‰‰‰‰ÎÎÎÎZZZZÑÑÑÑ]]]]ÃÃÃÃiiii™™™™,,,,XXXX

(i) %{ Š;ð Z»ð (ii) %{ Š;ð Z»ð
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5 7 9 8 1 7

+ 2 9 8 – 4 0 8

(iii)   1 0

×1 0

(iv) 100 @ 10 =
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1 1


